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CALCS He(Kappa‘s‘) CALCS He(Kappapu) CALCS Kappac CALCS 1CC

2500 3000 3000 2500

2000 2500 2500 2000
2000 2000

1500 1500
1500 1500

1000 1000
1000 1000

500 500 500 500

0 0 0 0

1.008  1.009 1.01 1.011  1.012 0.996 0.998 1 1.002 1.035 1.04 1.045 1.05 344

DCs F{e(kappam) DCs F{e(kappapu) DCS kappac

2500 3500 3000

3500

3000 3000

2000 2500

2500 2500
2000

1500 2000 2000

1500

1500 1500

1000
1000
1000 1000
500

500 500 500

0 0 0 0
1.008 1.009 1.01 1.011 0.997 0.998 0.999 1 1.035 1.04 1.045 344

DCS-NOGATE He(Kappqs‘) DCS-NOGATE Re(kappa, u) DCS-NOGATE KappaC DCS-NOGATE 1CC
2500 3500 L 3000 3500
3000 3000
2000 2500
2500 2500
2000
1500 2000 2000
1500
1000 1500 1500
1000
1000 1000
500
500 500 500

0 0 0 0
1.008 1.009 1.01 1.011 0.997 0.998 0.999 1 1.035 1.04 1.045 344




